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Tutayevsky Districl, in central Russia. Tereshkova's father

Emmw‘m’mﬁrmmwm:
A. e B. caf C. ey D. ©&q

Fgreit : e *I%- w1, T9%, zo, m'ﬁi‘mﬁu
Ans : A. '

[ Fesz @@ b e
A. T TG (TG TE TeATS FA0R
B. 57 o7 (R0TA! TE BATS FAR
C. o7 (AT T BoATS FAR
D. 757 (REEFTIR A SIS FA0R

w:.mﬁgﬂmw%ﬁ%w mmﬁ
Besie TA0Y |

o TEATS SR I07 1% E-fﬁ?r-l—'ammww|
o YRGSl SINITE &40R 501 ik MRe! SR Q4 T |
» SIS @ GO BT (ATAfE- S @ WO BrE (TR |

o T5 NYerTE TeAlbe Trme- qﬁmﬂnﬁ@iﬁﬁl

Ans: C.

S o ————————— el

Ans: A,

'W‘Wmmﬂmmﬁ?
AN +% B.V@+w C.Y¥Ai+o® D. Vj+d
TG : T - VA + ' (TB) = TGS F2 &S |
oM - Velg + T = RS FL A |
 f - Vg + o = sege e
! - VoG + T = TN P2 o |
| “H{o - \fi'ni+‘ﬁlﬂ Tﬂﬁnfﬁﬁ_ﬂlt
Ans: A,
Mwﬂmm@wwwr
A. fafe B.frmd  C.faRes D. ymt
[T : 'ania mmw fafa
Ans : B. :

R Terminnlngy RIS ER Iy

Tt : T = T+ e - WHTW@WWI l

Aﬁﬁfsm B%wrsm C. *m s D. 1% 7er

Acute-‘?a'ﬁﬁ! . Accent-2@ATA

Termmulng}r- % ' Acoustics- ®@m{ f[@=m

Acrunmn—‘ﬂmﬂ'ﬁ; : * Articulation- St -

.- Agreement- AREI - Article- s&Rwie

Ammate— ‘-ﬁﬁﬁ -+ Aspect- 31, {41
Ans ' R R

English
Read the paragraph and answer the following question (11-25) : |
Tereshkova (1937) was bom in the village Maslennikovo,

was a tractor dnver and her mother worked in a textile plant.
Tereshkova began school in 1945 and continued her
education thrnugj: distance leaming. She became interested
m parachuting from a young age and trained in skydiving at
the local Aeroclub, making her first jump at age 22 on 21
May 1959. At that time she was employed as a textile
worker i a local factory. It was her expertise in skydiving

that led to her selection as a cosmonaut. After the flight of
Yun1 Gagarin (the first human being to travel to outer space
in 1961), the Soviet Union decided to send a woman in
space. On 16 Fcbruary 1962, Tereshkova was selected for
this project from among more than four hundred applicants. |
Tereshkova underwent a series of training that included
weightlessness  flights, rocket theory, space craft
engineering, parachute jumps and pilot training in MIG-
15UTI fighters. Since the successful launch of the space
craft Vostok-5 on 14 Junc 1963, Tereshova began preparing |

for her own flight. On the moming of 16 June 1963,
Tereshkova and her back-up cosmonaut Solovyova were
dressed in space suits and taken to the space shuttle launch
pad by a bus. After completing her communication and life

support checks, she was sealed inside Vostok-6. Finishing a
| two-hour countdown, Vostok-6 launched faultlessly.




[B¥ Tereshkova was born in |

i YT : Amiable - THE© |
A. Mecedonea B. Russia

L r a-u -di
: Synonym : Friendly, Amicable, OQutgiving, Well sposcd.
| = Ukaain D. Afghanistan Antonym : Hostile, Adverse, Rancorous, Enemy, Inimical.

Nt : 39 sentence 9 1 WR- Tereshkova (1937) was Ans : A. |

born in the village Maslennikovo, Tutayevsky District, Complete the sentence with suitable phrase/
In central Russia,

word: forgot to shut down the computer?
Ans : B, | i A. Had better B. Would rather
Tereshkova continued her education through- C. What's it like D. Wl’l_ﬂt \f
A. Local school B. Distance learning Tt : IFO0R IF IS WA (I T Fe TR 9a
__C. Local Aeroclub D. University RS What if 3973 |
I TR : oF sentence 9 371 Wz Tershkova began school in Ans : D.
1945 at the age of eight...... through distance learning. m Complete the sentence using suitable clause/
Ans : B, phrase: It is raining heavily. If you go outside, |
She first skydived in : you will . .
A. 1968 B. 1962 C.1945 D. 1959 A. caught cold B. catch by cold
YT : 8¢ sentence 9 T WMR- She became interested in C. catch cold D. will cold }
parachuting from..... jump at age 22 on 21 may 1959, [T : If T sentence present indefinite T *itaa =M
Ans : D, sub + shall/will + V, € Future indefinite <0 |
I Her flight to the space involved : If you need, you will pass the exam.,
A. Competing with many applicants WFATed- If you go outside, you will catch cold.
B. Yuri Gagarin Ans: C.
C. Many skydivers from the area m Fill in the blank in the following sentence with
D. Early education at school article as necessary: Unfairness in the
| TGt : Passage @ 3t wmw- On 16 February 1962, examination is offence.
Tereshkova was selected for this project from among A. the B. an C.a D. a kind of
more than four hundred applicants, ©1% Answer (A) | IR : Sink down - §F 16T |
Ans : A. FAR Berra IS - on I |
h Tereshkova's flight to the space is known as _. Ans : B,
A. appolo B. Mig-15UT]I Complete the sentence with suitable prepositions:
C. Maslennikovo D. Vostok-6 A sun set scene is really pleasant and enjoyable.
01 : Passage Q@ 9! WIE- On the moming of 16 June The sun sinks _____ and sheds its mild ray
1963, . her communication and life support the western sky.
checks, she was sealed inside Vostok-6., A. down, from B. down, on
Ans : D. C. up, from D. up, to
Which one of the following is a word with a |'«m=m : Sentence TS T ZratR 7€ 73 +fon wrwT =@
number prefix? W B3I B g WereRs! [{fewd 9w | eaw 1 wa @i
A. Antenatal B. Ex-minister sink down @ STt fafFa< LTS ray on 3 | '
C. Extraterrestrial D. Bi-lateral Ans : B.
P : Bi-literal - fR-+ifFs | Read the sentence and fill in the gap with the
Ans: D. correct form of verbs as per subject and context: |
Which one of the following is a word with a The wicked wolf ___ (go) to the lamb. |
suffix that denotes a place? A. goes B.went  C.gone D. going
A. Stoppage B. Adversary 101 : Sentence & 5 main verb ZGE went @ |
~__C. Dispensary D. Democratic Ans : B.
It : Stoppage - [¥afe7 7 1| cr: Bus Stoppage. Use appropriate connector in the blank space of
Ans : A, the following passage: Globalization has become a |
IE] Select the synonym for the word "arrival' - buzzword in the new era of international relations.
A. Descend B. Arrived C. Aperture D. Departure | it is a process of expanding trade and
TR : Arrival - IH/39%S | - commerce by creating borderless market. |
|| Synonym : Coming, Reach, Inhalant, Presence. A. However B. As aresult C. In fact D. Therefore |
Antonym : Departure, Out going, Exit. iUt : @ In fact - IRF wd | I
Ans : D. - 25 X e Asaremlt-¥t1 e Therefore - oM | -
I} Select the synonym for the word 'amiable’ - Ans: C,

A. Benevolent B. Loyalty C. Silently D. Hateful
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Read the paragraph and answer the following
questions (11-25) :

I am in a tiny steel cage attached to a motor cycle, stuttering
through traffic in Dhaka. In the last ten minutes we have
moved forward may be three feet, inch by inch. Up ahead,
the traffic is jammed so close together that pedestrians are
climbing over pickup trucks and through empty rickshaws to
cross the street. Two rows to my left is an ambulance, blue
lights spinning uselessly. This is what the streets here look
like from seven O'clock in the moming until ten O'clock at
night. If you are rich, you experience it from the back seat of
a car. If you are poor, you are in a rickshaw, breathing in the
exhaust. I am sitting in the back of a CNG, a three wheeled
motor cycle shaped like a slice of pie and covered with scrap
metal. I am here working on a human rights project, but
whenever 1 ask people in Dhaka what they think
international organizations should really be working on, they
tell me about the traffic. Alleviating traffic congestion is one
of the major development challenges of our time. Half the
world's population already lives in cities, and the United
Nation estimates that the proportion will rise to 70% by
2050. Dhaka, the world's densest and fastest growing city, is
a case study in how this problem got so bad and why it's so
difficult to solve. i

[E] The writer of the piece appears to be in a-
A. cage B. CNG

C. bus D. Slice of a pie
11 : Passage @ writer 'CNG' & steel cage a7 7itd 2510
FRrs | Writer «2 T 20% fefA steel cage & T00 S0 |
| Ans : A.




The piece is about-
A. Traffic police B. Traffic Rules
C. Traffic Congestion __ D. Traffic Management

L : I 1A Ten e passage 0 Frat zome |
Ans: C.

The writer is a/an-

A. poor man

B. rich man

C. Human Rights Worker

D. Executive Director of an NGO

1Ot : Passage 9@ T WITe- I am working on a human
night projects.
Ans: C

According to this piece, some of the international

organizations in Dhaka should be working in
Bangladesh on issues such as -

A. Poverty alleviation

B. Climate issues

C. Freeing the streets of Dhaka
D. Beautification of Dhaka

1Yt : Passage @ 1 W=~ I am here working on a
, they tell me about the traffic.

llllllllllll

AnsC

sl According to the piece TD% of world's population
lives in the cities of the world -

A. I agree :

B. I partially agree

C. Answer is not provided

D. This may be the case in future

It : Passage 9 ¥ WiR- Alleviating traffic congestion
........... estimate that the proportion will rise to ?ﬂ% "
Ans : D.

m Which one of the following is a wurd wnth a
negative prefix?

A. Antibiotic B. A historical
C. Antenatal D. Deform
It : Antibiotic - ETHEE | Antenatal - &5 |
Defnnn-ﬁ'f‘ﬁﬁ"il Ak el
' Ans : D.

I Which one of the following is a word with a
suffix that denotes an agent?
A. Pragmatists B. Repentance
C. Coastal D. Bookish

TNt : @ Agent - 2% 1 e Bookish - 3% e |
® Repﬂntancc - SSIT |

» Pragmatist - a person who takes a practical apprnach
to problem. : :
Ans : A.

E Select the antonym for the word 'modern’
A. Ancient B.Permanent C.Barren  D. Medieval

JRY! : Modern - Y | :

Synonym : Recent, Neoteric, Current, New, Running.

Antonym : Ancient, Archaic, Primitive, Aged.

Ans ; A.

m Select the synonym for the word 'amenity’

Iﬁﬁ_‘
UM : Amenity - e, Austerity - FWES]

Synonym : Politeness, Modesty, Comity, Meeknc*:s thty
Antonym : Incivility, DIEC{]IHTEE}’.. Indellcacy |

Ans : C,
m Complete the sentence wnth suitable phrases/
words: _ your house ____ ?
A. What does, look like B. How does, look like
C. What's it like would be D. What's it like, look alike

10t What does your house luuk h](e: (SR IF1 (THCS (a7

Ans : A,
Bl Complete the sentence using 5u1table clause/ phrase:
The man whom you ___ yesterday is my brother.
A. met B. meet C. meeted D. meeting '

I : Yesterday, last.day, last night, last month, last
week, last year etc AR simple past tenSE'IEII B

sub + verb @3 1¥ form + obj. '

I came hnme Jast mght
|Ans: A, -

Y Fill in thr: blank in the fnllnwing sentencn mth
articles as necessary: Unfairness degrades
standard of education.

A. a B. the C.an D. of

It : The standard nf edur.:atmn ﬁ@tﬁ‘ﬂﬁl
Ans:B.. .

Cumplefe the sentence wuth smtﬂblc preposition:
The tree tops on the distant horizon are all red
the rays of the setting sun.

A. from B. with C. on D. to
T[T : Smcﬂwﬂmmﬂﬁmﬁnmtbc
rays of setﬁng sum. '

[ Ans : A, - <

- Read thc sr:ntem:r: anﬂ Tl in thr: gap with the

correct form of verb as per subject and context: He
(say) to it angrily, ""You young rascal."

A. saying B. say C.said D. Nﬂne nf the abﬂve

%ns{'l ) i
Use appropriate connector in the hlank spal:e of
the following text: A lion was drinking water from a

brook _a lamb was also taking water from the
downstream of the same brook.

A. While B. On the contrary
C. Hence D. At the same time

Al : e Hence-FoIR 1 ' On '_mE'qmml-ﬁ’iﬁC‘!ﬁ' I
e While - *IFi93, wﬁmi ~ ® At the same time - <% 7 |

Ans : A, . :
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Wﬂ'ﬂﬁz—}{ @ =9¢
Ans:B il

A. Austerity B, Unnecessary C. Famhty D. Necessity
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Read the paragraph and answer the following
questions (11-235) :

A vast mangrove forest shared by Bangladesh and India
that is home to pusmbly five hundred Bengal Tigers
rapidly destroyed by erosion, rising sea level and storm-
surges, according to a major study by researchers at the
Zoological Society of London and others. The
Sundarbans forest took the brunt of super cyclone Sidr in
2007, but new satellite studies show that 71% of the
forested coastline is retreating by as much as 200 meters a
year. If erosion continues at this pace, already threatened
tiger populations living in the forest will be put at risk.
The Sdundarbans is known for vanishing islands but the
scientist said the current retreat of the mangrove forest
on the southern coastline is not normal. The causes for
increasing coast line retreat, other than direct
anthropogenic ones, include increased frequency of
storm-surges and other extreme natural events, said
Pettorelli, a member of Zoological Society of London.
Our results indicate a rapidly retreating coastline that
cannot be accounted for by the regular dynamics of the
Sundarbans. Degradation is Happening fast, weakening
this natural shield of and Bangladesh.

m The Sundarbans is best known for —

A. Rising sea level B. Mangrove forest
C. Protecting sidr D. Biodiversity

JMO1 : Passage q @ WTR- A vast mangrove forest

shared by Bangladesh and Indla and others. | 4
Ans : B. ' % . .

- A major stuﬂ}' was cunductud by -
A. Activist researchers

B. Zoological Society of London
C. UNESCO
D. World Bank

[T : Passage @ I WNR- A .vast mangrove......
according to a mason study by researchers at

Zoological society of London and nthcrs
Ans : B. -

- The theme of the piece is —

A. Decreasing number of tigers
B. Usefulness of the Sundarbans

C. A unique forestry

D. Ecological threat

it Passageﬁﬁmmﬁmwwﬁﬁw
w13 fTameng B 41 AR |
Amns : D,
| Degradation is fast in the Sundarbans —
A. 1 disagree B. 1 agree
C. May be D. None of the above
[=ott : Passage @3 18 S 3= R Degradation is
Happening fast
| Ans B:-

L

. The Sundarbans may be seen as a —
A. Tourist area B. Research spot
C. Scenic beauty D. Natural shield

It : I sentence @ Degradatmn is happening felt
weakening this natural shield India and Bangladesh.
Ans:D. B
[E Which one of the following is a word with a
pejorative prefix?
A. Extraordinary B. Misinform
C. Interactive D. Transnational
YL+ G TS &g Satgad-
Pejorative - =g
Extraordinary - Ft4R4 |
Interactive - fafdFm |
‘Misinform - & QM (7ed |
oA Ty oY S (B) foraa et | |
Ans:B. - -

| Which one of the following is a word with a
suffix that forms a diminutive?
A. Confusion B. Hillock
C. Criticism D. Patriotism
N : Diminutive - 7eH® 2t wfe 74 |
~ Patriotism - (7 |
Criticism - WTF'{H

| Hllluck TE TG | |
QT Y T (B)c@%m@%ﬁfgmwr
Ans : B. i

ITY Seclect the antonym for the world 'Abuse’
A. Respect B. Respite
C. Regret D. Restitute

[T : Abuse - Wﬂﬁ!ﬂw |

Respite - S&3 |

Restitute - Tl*‘f‘l el |

Synonym : Misuse, Misbehavior, Mscunduct .
Antunym Respect Hnnnur Worship.

Aus A, -
Select the synonym for the word 'arouse’
A. Insist B. Pacify
C. Release D. Incite

R - Amuse =11 (o) [ .
- Pacify - mew|
Incite - Sz,

Synonym : Excite, Awakcn, Get up,’ Awake -
Antunym Inuperatwe: o TR
Ans : '

Cnmplete the sentenue wrth suitable phrase/word
given in the box: My father will come tonight

from New York.I __ go to the alrport.
A. Have to B. Has to
C. Were to D. Could

YT : Sentence & Present form 9 g wig Havcfhas
PR | WA 1 97 M have T3 1 |
Ans: A..




phrase: A river flows beside our village. I used
to swim when ____in the village.
A.1living B. I had living
C.1lived D.1am living

T : (TR FCEE TGEe] ARITS Used to TIRS T |

subject + used to + (verb simple form)
W[, when O3 (FTd-

Present indefinite <~ when — Past indefinite
In 1971 when we got in depended.

Ans : C.

Fill in the blank in the following sentence with
articles as necessary: If the student of
country do not acquire true education, there will
be no development for economy.

A.an, a B. a, the C. an, the
It : MR 9 o [/TS a 91 )

*& economy S the I/ |
Ans : B.

|PR] Complete the sentence with suitable preposition:
The golden rays of the setting sun fall ____ the
water and tinge them with golden colour. -

A.in B. from

Tt : Fall on - <ifee 26wt |
Fall out - 7% 41 |
Fall Sack - = &o1
Fall in with - ¥¥® Q@7 |
| Ans : C.
' Read sentence and fill in the gap with the correct
from of verbs as per subject and context: Why

do you (make) the water dirty?
A.makes  B. make C. made

D. the, the

C.on D. of

D. making

Ans : B, -
Use appropriate connector in the blank spaces of
the following passage: Many years ago there
lived a king named Solomon. He was very wise

and helped people in many ways. ____ his name
and fame spread far and wide.

A. However B. As aresult

C. Accordingly D. In the meantime
| 20t41 : As a result - @3 T '
Topieg™ TS As a result T F41 A |

Ans : B.

I o frgrem Rt vo M | el tad WS ¢ -

Y : 9 T, TSN I Y F?

A sefim . B.svfitm  C.2fitm  D. ¢ for
7T - AR = ISR AR | TSI ¢ 2 v ¢ A | PP
T T = @ + & + 9= b | THOY Tge = ¢ |
.'.TH@W:%KHEl:Q&ﬁ.

Ans:D.

———————— —————
[l Complete the sentence using suitable clause/

1
BEB % p'+— =2 701 P+~ @ %o

P P
A0 B. 1
C. £l D. +2
1 e
TR : PP+—==2 = |P+—| -2P.—=2
P ' Y . P.isam
1 2
::(P+"—] —-2=2
P
_1 2
:;(P+—] =24+2=4
P
ir : ;
P+—=42
P
Ans:D. |
3 =5
212 (22
—| %= =9%?
m (33
A.0 B.1
2 5
C.3 -2

3.3

(P

Ans:B. \kein
AR (x—1) (x+7) = (x-2) (x+3) T X W I[ F52
1 1
A. 5 B. 7
&2 D. -3

ST ) ) B ) )
::rx2+7x,—x-~—7=f—2x+'3':;—_6- |
=>x1+6x'—'7_=x2+x%ﬁ
::-.xz'+'6“x-qf—x=_,—6+.‘?=35;= 1 ﬁ-x.#.-;- ‘

Ans A

L]

X! — 5x + 6 = 0 FRTTI e Fsa Tl

A. 1,5 B.-1,-5
C.2,3 D. -2, -3
TR : T ax’ + bx + c= 0T A,
- —b+4/b% -4ac”

PRI WA X = 2

@A a=1,b=-5,c=6 | _
—(-5) (52416 5+425-24 5%1
K: — — ,

2.1 Rk 2

5-1
(+) 4T, 5;'1=31l (_)qﬁ,T=2

Ans : C.
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It : IO A, AT X 9R X =x+10-20=2y
ao.¢ Ffe Tew@ Tug AuRd A I S a3z fog =t - 2y=x-10

s T | Q9T ax qAR Ax @ RS I P WETIAR KA 3 5“W13~3=3y—64=4_2y__.64'
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